Vertex Form of the Quadratic                             Name ___________________________

y = a(x – h)2 + k

1. y = 5(x + 4)2 + 4

Vertex         ________________

Opens up or down? _____________

Standard form of the equation ____________________________

-b / 2a               _________________

Is your x value for the vertex correct ?    _______________________

__________________________________________________________________________

2. y = -3(x – 2 )2 + 6

Vertex         ________________

Opens up or down? _____________

Standard form of the equation ____________________________

-b / 2a               _________________

Is your x value for the vertex correct ?    _______________________

____________________________________________________________________________________

3. y = -4(x  - 6 )2  -  5

Vertex         ________________

Opens up or down ? _____________

Standard form of the equation ____________________________

-b / 2a               _________________

Is your x value for the vertex correct ?    _______________________

______________________________________________________________________

4. y = -3(x  - 6)2 + 4

Vertex         ________________

Opens up or down? _____________

Standard form of the equation ____________________________

-b / 2a               _________________

Is your x value for the vertex correct ?    _______________________

5. y = -2(x – 7 )2 + 9

Vertex         ________________

Opens up or down? _____________

Standard form of the equation ____________________________

-b / 2a               _________________

Is your x value for the vertex correct ?    _______________________

6. y = (x + 7 )2    (convert to standard for m first?)

Vertex         ________________

Opens up or down? _____________

Standard form of the equation ____________________________

-b / 2a               _________________

Is your x value for the vertex correct ?    _______________________

7. y = -4(x )2  -  5     (convert to standard form first?)

Vertex         ________________

Opens up or down? _____________

Standard form of the equation ____________________________

-b / 2a               _________________

Is your x value for the vertex correct ?    _______________________

How many Roots?

8. x2 + 2x – 2 = 0

9. 2x2 + 5x – 3 = 0

10. –x2 + 4x – 3 = 0

11. x2 + 2x + 1 = 0

12.  4x2 – 4x + 1 = 0

13. 5x2 – 4x + 12 = 0

14. -2x2 – 2x – 4 = 0

15.  -6x2 + 4x – 3 = 0

